PHFEEPNZTFHE (ERMERBETES)
SH06E4B18N 5HF0TE3AIIAET

(81 : F9)
# = TEE RIFE T HEH 1R
I —RRIEDRBAEEIERDER
1. REEEOE
(1) BEHENE
EXRMEER R 50, 000 2,000 48, 000
EARPESIFR 50, 000 2,000 48, 000
XD E 7,545, 000 7,695, 000 A 150, 000
ZR=E 7,545, 000 7,695, 000 A 150, 000
E S )6 1,300, 000 900, 000 400, 000
TEEFREEER SRR S 1,200, 000 800, 000 400, 000
MEE R RN 100, 000 100, 000 0
SIERA 0
REHEIESF 13, 040, 000 12, 244,000 796, 000
ZEU A A HERAHEEE 7,826, 000 7,825,000 1,000
SEXBERE A BN 0
ZRHESEESE 100, 000 300, 000 A 200, 000
ZEM A A HFIEZEEURA 5,114,000 4,119, 000 995, 000
ZHENE 0
SREFEIRERR 0
E AR EERRARUA 5,605, 000 6,498, 000 A 893,000
BRI AR ER AR 5,605, 000 6, 498, 000 A 893,000
HMEUNEE 470, 000 400, 000 70, 000
ZERFIS 0
HMEUNEE 470, 000 400, 000 70, 000
FEF ST 28,010, 000 217,739,000 271,000
(2) BEER

E £S5 18,912, 000 18, 399, 000 513, 000
TRy 8,953, 000 8, 569, 000 384, 000
PRITEESE 0 1,236, 000 A 1,236,000
BHEEE 1,361,000 1,478,000 A 117,000
REEE 1,301, 000 1,093, 000 208, 000
BIEERE 620, 000 750, 000 A 130, 000
HFEmE 1,108, 000 887, 000 221,000
ENRIZAE 2,342,000 2,131,000 211, 000
afes 2,136, 000 1,393,000 743,000
ECE I 784,000 722,000 62, 000
FHHR 43,000 44,000 A 1,000
PE/N =ik 12,000 12,000 0
XILBIRREE 0
KRS 0
Z5tE 150, 000 0 150, 000
ME 102, 000 84, 000 18, 000




# = TEE RIFETHE B R
BN 11, 027, 000 9,904, 000 1,123,000
R 4,094, 000 889, 000 3, 205, 000
PRESEE S 0 1,484,000 A 1,484,000
REHAER 0 800, 000 A 800, 000
BHEEE 842, 000 528, 000 314, 000
REEE 2,468, 000 2,602, 000 A 134,000
BIEERE 181,000 231,000 A 50,000
BRSNS 10, 000 10, 000 0
HFEmME 228,000 199, 000 29,000
FIRIZRAE 260, 000 295, 000 A 35,000
s 1,162, 000 1,106, 000 56, 000
BT 440, 000 440, 000 0
FHH 51,000 42,000 9,000
GEGTYNGS 81,000 81,000 0
PE/N =ik 619, 000 675, 000 A 56,000
Z5tE 262,000 154,000 108, 000
ME 329,000 368, 000 A 39,000
REERE 29,939, 000 28, 303, 000 1,636, 000
ST 2 SR R A 4 HAE S TR RAR A 1,929,000 A 564,000 A 1,365,000
e st 0 0 0
SHARE IR RER A 1,929,000 A 564,000 A 1,365,000
2. REEIMBROER
(1) BHEMXE
FEE IR IET 0 0 0
(2) BENEH
RENERE 0 0 0
LHRREEIMERER 0 0 0
b= EHRE A S HA — AR IEDRBAEE SRR A 1,929,000 A 564,000 A 1,365,000
fh=EHREER 0 0 0
b =EHEAER 6, 205, 000 6, 498, 000 A 293,000
fth=EHEAER (INES) 600, 000 0 600, 000
b =EHEAR (EEHF) 0 0 0
fth= i A BR (BEARRAEERRAR) 5,605, 000 6, 498, 000 A 893,000
b =EHELER A 6,205,000 A 6,498,000 293, 000
fth=EHH@HER (S S EURES) A 600, 000 A 600, 000
b =EHR AR (BB EEERAR) A 5,605,000 A 6,498,000 893, 000
AR IE KB EE LR R A 1,929,000 A 564,000 A 1,365,000
—RIEMRBAER B RS 6, 985, 000 4,994, 000 1,991, 000
—RRIEMRBAEERAAR A 5, 056, 000 4, 430, 000 626, 000
I fEREIEPRBAZESRIRIODER
B RSl 2 0 0 0
BRI RS2 0 0 0
—ARIEBREAEE N\ DIRESER A 5,605,000 A 6,498,000 893, 000
e 0 0 0
EARRAE A 5,605,000 A 6,498, 000 893, 000
L HATE B IEMRBAEE IR RIER A 5,605,000 A 6,498,000 893, 000
EEEFRMESRERS 107, 036, 000 109, 220, 000 A 2,184,000
TEE IEREAEERAAR RS 101, 431, 000 102, 722,000 A 1,291,000
Il EREAEEARIES 106, 487, 000 107, 152, 000 A 665, 000




